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(@ﬁ) Cosmo School

Chapter: Division

Lecture -3 notes
1. Write down the terms of this problems with solution:

a.92+4 b.201+2
100
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\ 2 ) 201
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) 8 00
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12 01
0 0
01
92+4=23 R0 201+2=100R 1
Dividend=.92 Dividend=201
Divisor =4 Divisor =2
Quotient = 23 Quotient =100

Remainder= 0 Remainder =1
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C.715+3

3

238

715
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715+3=238R 1
Dividend=. 715

Divisor = 3

Quotient = 238

Remainder =1

e.819+7

\
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\
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427+8=53R3

Dividend=427

Divisor =8

Quotient =53

")

Remainder =3
£.962+ 3
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819+7 =117R0
Dividend=.819
Divisor =7
Quotient =117
Remainder =0
9.815+ 4

203

\

815

4)8

15

12

815+4=204R 3
Dividend=.815
Divisor =4
Quotient =204

Remainder =3

962+ 3=320R 2
Dividend=962
Divisor =3
Quotient =320
Remainder =2
h.683 + 4

170
\

4) 683
4

28
28

683 +4=170R 3
Dividend=683
Divisor = 4
Quotient =170

Remainder = 3



